
WWall Oven Series -3all Oven Series -3Parts List & Exploded Views

8-8

30” Oven Door Parts List

Single and Double Oven

Ref # Part # Description

1 *Special order, Call Factory Parts Department
2 800523 Left Door Rack Guide, 30”, assy
3 802929 Sems Ph Hd Washer, 6-20x5/8
4 800522 Right Door Rack Guide, 30”
5 803379 Screw, 8-18x1/2” 
6 809816 Weldment, Liner, Door 30”
7 801102 Striker Plate, Door Latch
8 801542 Screw, 8-18x3/8”
9 800318 Gasket, Rope, Glass Pack, 30”

10 809115 Hydraulic Oven Door Hinge
11 809553 Triple Pane Oven Glass Pack, 30”
12 806610 Insulation, Door, Inner Top, 30”
13 806595 Insulation, Door, Inner, Sides, 30”
14 800319 Shield, Heat, Inner, Door, 30”
15 810794 Insulation, Door, Center, Top, 30”
16 820116 Heat Deflector, Center, 30”
17 803835 Shield, Heat, Door, 30”
18 806596 Insulation, Door, Outer, 30”
19 801540 Screw, 10-24x2-1/4”
20 800314 Bracket, Door, Outer, Mounting
21 802940 Door Skin, Outer w/window, 

30” F/S
803227 Door Skin, Outer w/window, 

30” U/S
803232 Door Skin, Outer w/window, 

30” F/S, No Logo
803235 Door Skin, Outer w/window, 

30” U/S, No Logo  
803230 Door Skin, Outer w/window, 

30” U/B
803236 Door Skin, Outer w/window,

30” U/B, No Logo 
803231 Door Skin, Outer w/window,

30” U/P
803237 Door Skin, Outer w/window,

30” U/P, No Logo
22 801204 Handle, Oven Door, Assy., 30”, Sst

801599 Handle, Oven Door, Assy., 30”, Plt
801600 Handle, Oven Door, Assy., 30”, Blk

23 806606 Insulation, Door, Ctr., Bottom, 30”
24 806605 Insulation, Door, Ctr., Side, 30”
25 806615 Insulation, Door, Inner Top
26 800418 Nut, 8-32 Hex Nut W/Lock Washer
27 800689 Hinge, Wall Oven, 30”

Ref # Part # Description

1 *Special order, Call Factory Parts Department
2 801816 Left Door Rack Guide, 36”, assy 
3 802929 Sems Ph Hd Washer, 6-20x5/8
4 801815 Right Door Rack Guide, 36”
5 803379 Screw, 8-18x1/2” 
6 809817 Weldment, Liner, Door, 36”
7 801102 Striker Plate, Door Latch
8 801542 Screw, 8-18x3/8”
9 801764 Gasket, Rope, Glass Pack, 36”

10 809115 Hydraulic Oven Door Hinge
11 801448 Triple Pane Oven Glass Pack, 36”
12 806610 Insulation, Door, Inner Top, 36”
13 806617 Insulation, Door, Inner, Sides, 36”
14 801765 Shield, Heat, Inner, Door, 36”
15 810794 Insulation, Door, Center, Top
16 801766 Heat Deflector, Center, 36”
17 803378 Shield, Heat, Door, 36”
18 806613 Insulation, Door, Outer, 36”
19 801540 Screw, 10-24x2-1/4”
20 800314 Bracket, Door, Outer, Mounting
21 803245 Door Skin, Otr w/window, 36” U/S

803246 Door Skin, Otr w/window, 36” U/B
803247 Door Skin, Otr w/window, 36” U/P

22 801206 Handle, Oven Door, Assy., 36”, Sst
801893 Handle, Oven Door, Assy., 36”, Plt
801892 Handle, Oven Door, Assy., 36”, Blk

23 806606 Insulation, Door, Ctr., Bottom
24 806623 Insulation, Door, Ctr., Side, 36”
25 806615 Insulation, Door, Inner Btm
26 800418 Nut, 8-32 Hex Nut W/Lock Washer
27 803335 Hinge, Wall Oven, 36”

36” Oven Door Parts List

Single Oven



WWall Oven Series -3all Oven Series -3 Parts List & Exploded Views

8-9

Oven Door Exploded View

Single and Double Oven

1

2

4
5 6

7
8

9

10

11 12
13

14
15

16 17
18

19
20

21

22

23

2425

26273

5

8
8

13


	1: 
	52m: 
	52ma: 
	52mb: 
	16m: 
	16ma: 
	16mb: 
	13m: 
	13ma: 
	13mb: 
	18m: 
	18ma: 
	18mb: 
	17m: 
	17ma: 
	17mb: 
	20m: 
	20ma: 
	20mb: 
	25m: 
	25ma: 
	25mb: 
	3: 
	5: 
	7: 
	8: 
	12: 
	15: 
	19: 
	20: 
	23: 
	26: 
	24m: 
	24ma: 
	24mb: 
	14m: 
	14ma: 
	14mb: 
	51m: 
	51ma: 
	51mb: 
	6m: 
	6ma: 
	6mb: 
	4m: 
	4ma: 
	4mb: 
	2m: 
	2ma: 
	2mb: 
	10: 
	28ma: 
	28mb: 
	28m: 
	3ma: 
	3mb: 
	3m: 


